Real World

#4 Tumout Right Hand

#4 Turnout Siding Spacin

In The Real 1:1 World 14 Foot

1:1 Spacing In North America 14 Feet to 21 Feet Depending On

Spacing Equals 1.9 Inches In 1/8]

In The Real 1:1 World 14.5 Foot Spacing Equals 2 Inches In 1/8
In The Real 1:1 World 15 Foot $pacing Equals 2.07 Inches In 1/,
In The Real 1:1 World 18.1 Foat Spacing Equals 2 1/2 Inches In

#4 Turnout With 18" Radius 2 3/64" (2.05")Track Spa

g For Various Radius Curves

tate And Railroad
7 Scale

7 Scale

B7 Scale

1/87 Scale

cing
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Angle Needed To Go Horizontal = 15°

#4 Turout Right Hand
B

Diverging Track End Angle = 255° %éé

Point Of Tangen:

23/64" Track Spacing

Equal To 14.8' In Real World

64 21/329 421/32" Equals 33.76'

Clirve Equals 18" R 15°

#4 Turnout With 13 11/32]

Radius 2 " Track Spacing

Using Smooth Flex

Angle Needed To Go Horizontal = 15°

#4 Tumout Right Hand
4

Diverging Track End Angle = 255° § o=

Point Of Tanhgency

2" Track Spacing Equal To 14.5' In Real World

Z
65 23/32% 523/32" Equals 41.46'

Curve Equals 13 11/32" R 15°

#4 Turnout With 13 35/64" Radius 2 3/64" (2.05")Track Spacing

1

Angle Needed To Go Horizontal = 15°

#4 Tumout Right Hand

Diverging Track End Angle = 255° &

, __— PointOf Tangency
<

2.05" Track Spacing f

ual To 14.9' In Real World

&——778

Curve Equals 13 35/64" R 15°

Go Any

#4 Turnout With 22" Radil

Q
7 7/8" Equals 57.3'

Further And The Track Becomes

An S Curve!

s 2 11/64" (2.17") Track Spacing

=

Angle Needed To Go Horizontal = 15°

#4 Tumout Right Hand
.

Diverging Track End Angle = 255° % 5

Point Of T:

ingency 2.17" Track Spacin

Equal To 15.7' In Real World

&
65 11/169 511/16" Equals 41.2'

Curve Equals 22" R 15°

#4 Turnout With 24" Radil

s 2 1/4" Track Spacing

Angle Needed To Go Horizontal = 15°

#4 Tumout Right Hand
»

Diverging Track End Angle = 255° % %5

Point Of T:

ingency 2 1/4" Track Spacin

Equal To 16.3' In Real World

<
66 7/32% 6 7/32" Equals 45.1'

Curve Equals 24" R 15°

#4 Turnout With 23 15/16

' Radius 2 1/2" Track Spaci

ng Using Smooth Flex

Angle Needed To Go Horizontal = 15°

int Of Tangency 2 172" Track Spacing

qual To 18.1' In Real World

b
Diverging Track End Angle = 255° & .
(@)

2
<=
%7 1/2% 172" Equals 54.4

Curve Equals 7 1/2'L x 23 15/16" Radius

#4 Turnout With 28 1/32"

Radius 2 1/2" Track Spacin

g Using Smooth Flex

#4 Tumout Right Hand
»

NOTE!!

Diverging Track End Angle =
Angle Needed To Go Horizontal = 15°

This measureme|

This applies to a

21/2" Track Spacing

qual To 18.1' In Real World

Floint Of Tangency
-
Q

E—72732—>

Curve Equals 7 27/32'L x 28 1/32" Radius

=
727/32" Equals

ntis the LENGTH

of the track making up the curve,
—> NOTthe length from the end
to Point of Tangency measured horizontally.

of diverging track

| of the examples.

156.9'
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